CHAPTER 2 TEST B


Name: ______________________

Directions: Show all work.

Section: _____________________
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1. Which of the following is the solution to the system of equations: 
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2. Which graph represents the solution to the system of equations: 
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3. Which one of the following systems of equations is inconsistent?

	a. 
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4. Which one of the following systems of equations is consistent and not dependent?
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5. Which one of the following systems of equations is independent and consistent?

	a. 
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6. Which of the following is not an elementary row operation?

a. Divide a row by 17.

b. Add one row to another row.

c. Interchange the first row with the next row.

d. Interchange the first and second elements of a row.

e. Subtract the second row from the first row.


7. Solve the system of equations by using a graph. Give coordinates of the solution.
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8. A farmer sells two types of avocados: she sells haas avocados for $1.80 each and fuerte avocados for $1.40 each.   The farmer earned $36 revenue selling at total of 22 avocadoes during a day.  Set up a system of two equations in two unknowns and solve the system to determine how many haas avocados she sold.


9. Solve the system by substitution.
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10. Solve the system by using elimination.
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11. An auto mechanic charges $427.70 for parts and labor.  If the labor cost $32.90 more than the parts, how much does each cost?  Use algebra to solve the problem.

12. A collection of nuts, bolts and washers contains 40 in all.  The nuts weigh 2.5 grams, the bolts weigh 5 grams and the washers weigh 2 grams.  The total weight of the collection is 129 grams.  There are two more bolts than there are washers.  Set up and solve a system of equations to find how many of each type of object there are.

13. Solve the system by back substitution:
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14. Find a solution to the system (in x, y and z) with the augmented matrix:
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15. Use matrix reduction to solve the system:   
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16. Solve the system using Gaussian elimination on an augmented matrix:  
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17. Use matrix reduction to solve the system:
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18. The sum of the interior angles in any quadrilateral is 
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.  Find the degree measure of each angle.
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19. Graph the system of inequalities, label the vertices with coordinate values and shade the solution region. 





20. Consider the problem of optimizing P = 50x + 30y
subject to the constraints:       
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a. Make a graph illustrating the region where the constraint system is satisfied.

b. Find the coordinates of the vertices for this feasible region.

c. Find the maximum and minimum values of P satisfying the constraints.

21. Use a calculator to find exact values for the solution of the system.
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22. Use a calculator to write the augmented matrix for the system in problem #21 in upper triangular form.

23. Use a calculator to solve the system with the augmented matrix.
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24. Use a calculator to solve the system of equations.
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25. Use a calculator to find the row echelon form of the augmented matrix associated with problem #24.  Write entries either as decimals or fractions.

Solutions For Chapter 2 Test Form B.

	1. d
	2. d
	3. b
	4. a
	5. c
	6. d
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8. Let H represent the number of haas avocados sold and let F represent the number of fuerte avocados sold.  Then 
[image: image46.wmf]1814360

HF

+=

 and 
[image: image47.wmf]22

HF

+=

.  Substituting 
[image: image48.wmf]22

FH

=-

into the first equation we have 
[image: image49.wmf](

)

9722180

HH

+-=

 
[image: image50.wmf]226

H

Û=

 and thus 
[image: image51.wmf]13

H

=

 so that 
[image: image52.wmf]22139

F

=-=

.

9. 
[image: image53.wmf]89

yx

=-Þ



 EMBED Equation.DSMT4  [image: image54.wmf](

)

11589644590

xxx

+-=-=



 EMBED Equation.DSMT4  [image: image55.wmf]535

6

x

Þ=

 and 
[image: image56.wmf]1

6

y

=-

.

10. Eliminating x,
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11. Let L = the cost of  labor, then the cost of the parts is 
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and the cost of parts is $197.70.
12. Let N = number of nuts, B = number of bolts and W = number of washers.  Then 
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Let A = the degree measure of 
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The maximum value of P is 4960 at (80,32) and the minimum value is 2240 at (16,48).

20. Using “SIMULT” on the TI-85, we find 
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As the screen shots below show, on the TI-85, you can enter the matrix and store it to A.  Then use the “ref” command on A to convert it to row-echelon form.  Converting to fractions, we see that the row-echelon form for the augmented matrix is [image: image94.png]16 2, B4E85656E5..
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22. Using the “rref” command to perform row operations that transform the augmented matrix to reduced row echelon form, we see that 
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Again, using “rref” on the augmented matrix can solve the system.  Evidently, the solution is 
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Using the “ref” command gives upper triangular form.  With one fixed decimal place mode, the TI-85 produces the following decimal result: [image: image98.png]


 
Converting to fractions, we get:
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Test 2/Form B


[image: image107.wmf]179223

1

210510

5847832

01

555555

5535881

001

113113

00019

-

---

éù

êú

êú

êú

êú

êú

êú

êú

êú

ëû

[image: image108.wmf]5210

8756

0,0

xy

xy

xy

+³

+£

³³

[image: image109.png]


[image: image110.png]


_1028633971.unknown

_1028753515.unknown

_1028811320.unknown

_1031987435.unknown

_1031987617.unknown

_1032011753.unknown

_1032011860.unknown

_1032013106.unknown

_1032013058.unknown

_1032011821.unknown

_1032011840.unknown

_1032011775.unknown

_1031987648.unknown

_1031988056.unknown

_1031987636.unknown

_1031987519.unknown

_1031987563.unknown

_1031987457.unknown

_1028847680.unknown

_1028896533.unknown

_1028898760.unknown

_1028900026.unknown

_1028895987.unknown

_1028895879.unknown

_1028846506.unknown

_1028847659.unknown

_1028836974.unknown

_1028837453.unknown

_1028829424.unknown

_1028798002.unknown

_1028811302.unknown

_1028811312.unknown

_1028810648.unknown

_1028811282.unknown

_1028811276.unknown

_1028810481.unknown

_1028796040.unknown

_1028797612.unknown

_1028793038.unknown

_1028666074.unknown

_1028733203.unknown

_1028740717.unknown

_1028740799.unknown

_1028740798.unknown

_1028740245.unknown

_1028733199.unknown

_1028733201.unknown

_1028733202.unknown

_1028733200.unknown

_1028707762.unknown

_1028709031.unknown

_1028733198.unknown

_1028666220.unknown

_1028666381.unknown

_1028666207.unknown

_1028662255.unknown

_1028662531.unknown

_1028662532.unknown

_1028662380.unknown

_1028636355.unknown

_1028662232.unknown

_1028634054.unknown

_1028563577.unknown

_1028628392.unknown

_1028633882.unknown

_1028633888.unknown

_1028628432.unknown

_1028628290.unknown

_1028628322.unknown

_1028627580.unknown

_1024005196.unknown

_1024043076.unknown

_1024065916.unknown

_1024068998.unknown

_1024075270.unknown

_1024076553.unknown

_1024068999.unknown

_1024068896.unknown

_1024058911.unknown

_1024059036.unknown

_1024043114.unknown

_1024043146.unknown

_1024043022.unknown

_1024043074.unknown

_1024042973.unknown

_1023809644.unknown

_1023826678.unknown

_1023971995.unknown

_1023809645.unknown

_1023808404.unknown

_1023808424.unknown

_1023808382.unknown

